
 ریاضی سال دوم و سومکلید سوالات المپیاد 

 سوالات تستی

 صحیح است.  2گزینه -1

 صحیح است  4گزینه  -2

 صحیح است. 1گزینه  -3

 صحیح است.  5گزینه  -4

 صحیح است.  3گزینه -5

 صحیح است. 2گزینه  -6

 صحیح است. 4گزینه  -7

 صحیح است. 2گزینه  -8

 صحیح است. 2گزینه -9

 صحیح است.  5گزینه -11

 حذف  صحیح است.  2گزینه -11

 صحیح است.  2گزینه -12

 صحیح است. 3گزینه  -13

 صحیح است.  2گزینه -14

 صحیح است.  3گزینه -15

 صحیح است.  3گزینه -16

 صحیح است.  2گزینه -17

 صحیح است.  4گزینه -18

 صحیح است.  2گزینه -19

 صحیح است.  3گزینه -21

 های کوتاه سوال

 5جواب  -61

  5جواب  -36

 حذف   09جواب -36

 36 جواب -36

 6جواب  -35

 36جواب  -33

 3جواب  -36

  3جواب  -36

 36جواب  -30

 جواب صفر  -69

 


